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Advanced Algebra Unit 3B - Graphing Logarithmic Functions 3B.3 - NOTES
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5. A) Does the table or graph have a larger y-intercept?
B) Determine which is a growth problem and which is a decay

0. A) What is type of asymptote (vertical or horizontal) does this
table have?

B) What is the equation of the asymptote?

C) Is #6 an Exponential Function or a Logarithmic Function?
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B) What is the equation of the asymptote?
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7. A) What is type of asymptote (vertical or horizontal) does this

C) Is #7 an Exponential Function or Logarithmic Function?

8. Which table is a log function and which table is an
exponential function?
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9. Write the equation of the exponential based upon the graph
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10. Write the equation of the logarithm based upon the graph
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